Algebra 0507
Review for Test
Chapter 7 — Systems of Equations

Solve each system by graphing.
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Solve graphically. Use a graphing calculator to find the point of intersection.
Round your answer to the nearest hundredth (2 decimal places).

3. 4,
2X+Yy=06 3y—-2x=10
X—y=4 3X+5y =25
Solution Solution

Indicate whether the slopes and the y intercepts are the same or different.
State whether the lines are parallel, intersecting or the same.

Write one, none or infinite to describe the number of solutions.

# of Solutions

5. y=2X+3 6. y=X-2
3y =6x—-6 X—y=-2
Slopes y — intercepts Slopes y — intercepts
Lines Lines

# of Solutions




Solve, using Addition.

7. 8.
IX+2y=2 2x+3y =14
x—2y=-30 3x—4y =4
Solution Solution
Solve graphically and using addition.
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